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o IV FIT W T [F 5 AT F gRG §E 16 T
797 27 31

Please make sure that the printed pages in this
guestion paper are 16 in number and it contains 27
guestions.

» UyT-gF 7 qER B @1 3T RE T @ TET T GT B
G Gov-gikidl & HEI-ge 9T d)
The Code No. and Set on the right side of the

guestion paper should be written by the candidate

on the front page of the answer-book.
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o YT FIT H T kiaT §E T G UBA, AT H TG
HTFT [
Before beginning lo answer a question, its Serial

Number must be written.
> FrT-yiaer # dT q @il g/ g T Sle)
Don't leave blank page/pages in your answer-book.

o FCyRTE ¥ SHaRkFT i o e T B o
SHFSTEAFAT &1 ford ofre for@r goe 7 #e

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written

arnswer.

o GYETEff AT T do FIEGH U FIT f@

Candidates must write their Roll Number on the

guestion paper.

* YA G F Ja7 37 G g7 78 ghtvad ¢ d B g9
g 7 @8 2 qhEr @ ST 59 T H @3 A @@
BT TET 19 TR

Before answering the question, ensure that you
have been supplied the correct and complete
guestion paper, no claim in this regard, will be

entertained after examination.
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FH 76
General Instructions :
(i) @ ge7 SFard &
All questions are compulsory.
(ii) aEqglTe T3 ® qo AFey fd)

Write the correct option in objective type
questions.

(iii) & T ard gl 7 onaR® fawey FT maET 8

Internal choice has been provided in long
answer type questions.

(iv) T8%F 797 & 7% GTF AT nd 7 &
Marks of each question are indicated against it.

(G R
SECTION - A [ Marks : 20
(it o)
(Physics)
1. oW gdied au fefeq @i & g8 RO 2, TH
& 1
(A) HXECH
(B) aTqEe
(C) famaw
(D) HeI
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The main reason behind the advanced sunrise

and delayed sunset is .....coems....0 of light.
(A) Reflection

(B) Refraction

(C) Deviation

(D) Secattering

2. Fr=faflgg d § @9 SouEnr o G & EEW T8
T 7 1

(A) @S

(B) e
(C) YA Sl
(D)

Which of the following is not an example of bio-

mass energy source ?
(A) Wood

(B) Gobar gas

(C) Nuclear energy

(D) Coal
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3. frow omft s9a ymer & T # 9T # v #T e
2 @i 3 a & @ w9 7 fofew 1

The prism split the incident white light into a
band of colours. Write these colours name in

sequence.

4. e i H U0y B e . R B B 7 1

On what factors, the resistance of a conductor

depends ?

5. Tl & Rsl Wi F @4 T B B 7 2

What are the properties of a good source of

energy ?

6. 20,3 QTN 6 Q B UL & FY UHR I
ffrar Se % HaeE W e gRg 1@ e P 2

How can three resistors of resistances 2 Q, 3 Q
and 6 Q be connected to give a total resistance

of1Q7
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7. O THEO B FEH B fol A9 TR B R S fawg #

ql rawg g B 2

$H TTM (Reduce), §T: THT (Recycle) 3T T
JUEIT (Reuse)l HA ITANT &I &R § a0 AT

You must have come across the three R's to save

the environment :

Reduce, Recycle and Reuse. Explain Reduce in

detail.

8. (a) WIE I HATA QYUY B BT HE (C) T BHY F
$ 77 Rud B 99 a5y @ ol @1 Rafy, s
qar Sl B R S 2
An object is situated between the centre of
curvature (C) and focus (F) of a concave

mirror. Draw a ray diagram of the position,

size and nature of image.
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(b) TH T W BHE T W Hio] R gwe
~2.0 D ?| 9% {9 ysR & a9 3 ? 2

Find the focal length of a lens of power

—2.0 D. What type of lens is this ?

9. AWifed @ ©ig X fRdr faga sfFa &1 99 fema
T BN W #RAG de # JAN F ac B HE@YY
e 7 6

Explain the underlying principle and working of
an electric generator by drawing a labelled

diagram. What are the advantages of ac over

de ?
Fear
OR
(a) ¥HUSY (Earthing) & 1 o ? ? fEm
SUHTO B qEafha & fE SIan B 7 2

What do you mean by earthing ? Why
should the electrical appliances be
earthed ?
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(b) URATRTET & TET F4T AT B 7 UH ORI
d gared g 9 & BRO IO gEhE & B
AT ST GRATeEr & 3w of fofaw 4

What do you mean by a solenoid ? Draw the
magnetic field lines around a current

carrying solenoid. Write down the use of a

solenoid.

e -
SECTION - B [ Marks : 19
(e fastr)
(Chemistry)

10. = Tt Aflea § S9-ar SRS SIEiEg &

w® B ? 1

ZnO+ C - Zn+CO

Which reactant is reduced in the following

chemical reaction ?

ZnO0+ C — Zn+CO
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11. 9% 9F oW fawa A, B @@ C 2, f5W@r pH &1 99
FAM: 3, 7 W@ 9 B IWET A § BE-A1 faeme o
B ? 1
You have three solutions A, B and C, whose pH
value is 3, 7 and 9 respectively. Out of above

solutions, which solution is acidic ?

12. @@ M, MCL,§J acll U% FA038 a1 81 A |l
4 78 @ M Han: 59 9 3 siwia aem ? 1
(A) Si (B) Al
(C) Na (D) Mg
Element M forms a chloride with formula MCl;.

Element M would be most likely in the same

group of periodic table as :
(A) Si (B) Al
(C) Na (D) Mg
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14.

15.

16.

(10) 4205/(Set : D)
faier (emages) sifufbamslt @ omu @ Wl ¥ ? 0%

IR (TS FEEm ) 2
What do you mean by decomposition reactions ?

Give one example (chemical equation).

FA- AR ufkar F@r B B 7 3§ ufear @ uaEiee
THIHTOT ity 2

What is Chlor-alkali process ? Give chemical

reaction for the process.

MY ofEd gl & ofad § 9§ i oY §W W
A ES 6 g afEfid B B 7 e fafew 2

In modern periodic table, how does the atomic
size vary in a period on moving from left to

right ? Write its reason.

(i) gawsiia =g HAEaEs H Jd d Hiad d &1 sk
? 7 @ SEE i 2
What happens when water scluble metal
oxides are dissolved in water ? Give one

example.
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(ii) omat AT F TEEE 3= i A & ? 2

Why do ionic compounds have high melting

point ?

17. (i) =1 Gifeet @ aer Fie 1x3=3
(a) CH,-C=CH
(b) CH,-OH

]
|l
() CH,-C-CH,

Write the names of following compounds :
(a) CH3;-C=CH
(b) CH;-OH
o
{¢) [EH, - t|’f— CH,
(i) WA (C5Hy,) F W Heawoms aeaaa 1 T
FirTT 3

Draw all the structural isomers of pentane

(CsHy,) .
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AYqr

OR
= ofbaielt @1 aEte gHiee gRd vk
FifeTq : 2x3=6

Explain the following processes with help of
chemical reactions :

() CEdFm
Esterification

(i) TR
Saponification

(i) BREFISHIHTT
Hydrogenation

e -9
SECTION -C [ Marks : 21

CCREER))
(Life Science)

18. T Wig T Aiew HE~D G B G TPEME TEa |’
TAF I A A & 2 1

(A) SRS (B) AU
(C) SmeraTd (D) wiEER
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The organisms which break down complex
organic substances into simple inorganic

substances and mix them in the soil :
(A) Producers (B) Decomposers

(C) Herbivores (D) Carnivores

19. o R H HA-G1 G FEfEE G gEE H

SIS HI B 7 1
(A) HINTHI FBE

(B) g

(C) iR

(D) e & sifem T

Which part of neuron acquires information from

sensory organs ?
(A) Cell body
(B) Dendrite

(C) Axon

(D) Nerve ending

4205/(Set : D) P.T.O.



20.

21.

22.

23.

24.
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frdt ot o & o #1 yaE G3g o Remert #
B 8 ? 1

In how many directions the energy flows in any

ecosystem ?

TeH B °BT UT T ST TR AT B AT JEAR
® T B 3P [OQ P-7 AW IJueEl B 7 1

Growth of facial hair and deepening of voice are
symptoms of puberty in boys. Which hormone is

responsible for it ?

9 H Si@at ® BE-8 A E} W A denE |7
WY FA B ? EiPET B 39 9 & A9 IOR 1

In a flower, pollen tube enters through pistil into
ovule. Name that part.of pistil.

fZaved aar sg@ved ® # i B ? S gied
BREIEM 2

What is difference between binary fission and

multiple fission ? Explain with example.
fafsre it giRRmr SM-H1 & 7 9 @R H ae
1 "EE 8 ! 2

What are different contraceptive methods ? How

are they important for reproductive health ?
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25. ARTSF TeN AETey 4 Wud Bk & 7 2

How are brain and spinal cord protected in

human body ?

26. TF A0 G A 9 (BB) F HHOT UF GBS G Al
9 (bb) & FHEET 4

A blue coloured flowering plant (BB) was crossed

with white coloured flowering plant (bb).
(i) 5= Hafa & Gl B T F B 7

What will be the colour of flowers in F,

generation ?

(i) TAO G0 A WO ER W G%e Hal @
gftrerd fpawm arm 7

What percentage of white flowered plants
will be in F, generation through self-
pollination of F,; plants.

gfe= =mEr S

Explain with diagram.

27. WUN 9T = 2 ? Nl # gy qsAwT & UHW HI
AT HiteTq) 6

What is autotrophic nutrition ? Explain the

process of photosynthesis in plants.
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